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2,955,000& 2,955
&< 1,477
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O=2U0H| 400,000 400
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203 €2 F=&d| 1,000 1,000 0
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A FOUMET R D
HaM: Z2II2E el L XN (AMa=ER/BF)
el BEaxt A (2 &HH)
x 5 - 4
S EH B (BH) - MBAY - BAS Ol At o ﬁ}lgﬁ HRE2
OB6.258H JIEA ANYS BAZ 300,000& 300
O6.258H J|E Al AL AHS 700,000 700
307 2Iz2t0| & 5,200 6,000 A 800
11 A EXAIEEX 5,200 6,000 A 800
O6.258 X J|EA AL EHA SAH & /A2
= g 13,0008 » 400%™ 5,200
AFSIOFE O AFLXICH SHA (ALSI X /FHUAHSKH) 17,073,928 16,338,694 735,234
= 9,255,442
= 309,651
& 1,226,883
Al 6,281,952
SX sS4 FX 859,208 805,551 53,657
o= 20,660
Al 838,548
SEAIEX2 29 584,000 540,000 44,000
307 QI2t0| ™ 584,000 540,000 44,000
05 QIZtREZ 584,000 540,000 44,000
OZx=ZEANISA2 2H 584,000
OEEXSEAISEX 2 AL HI 10,000,000 10,000
OEZXSEAI=SXNS S H| 11,765,000& 11,765
OEEXSEASEXZ Ql2AH| 562,234,680 562,235
KNAZ2X A D8 A (AMEIERE2S 2Y) 72,500 52,500 20,000
& 14,500
Al 58,000
307 giztol A 72,500 52,500 20,000
& 14,500
Al 58,000
10 MM SAANEEHESIGHEX 72,500 52,500 20,000
OME=EXEAS 89 72,500,000 72,500
o=t 14,500
Al 58,000
NE=EXNAIS D8 A (AME=SXE2S 2H) (LA 50,200 43,500 6,700
=J})
307 2iz2to| A 50,200 43,500 6,700
10 MM SAANEEHESIGHEX 50,200 43,500 6,700
OAZEXE23 29 50,200
OASIEXIE 2 el 50,200,000 50,200
XNEE2XNAY DIt ZE(KNGAMSSEEHOAM A3 30,800 35,000 A4 ,200
ne)
= 6,160
Al 24,640
307 QI2t0| ™ 30,800 35,000 A4 ,200
& 6,160
Al 24,640
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HE: ALZorM 2 AFZXIC SHA(AMSI SR /HAHSKE)
ool =X By =X CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
10 AL SXNAIEEE2EH EX 30,800 35,000 A 4,200
OXNSAEHEAH 43 X3
30,800,000& 30,800
< 6,160
Al 24,640
ANA=SXNAY Jlgr 2 (RSEMZEBEHE AN 435 48,192 45,848 2,344
X&) (Kb Z=01)
307 21201 A 48,192 45,848 2,344
10 ALSISXAIEEE2GHEX 15,242 14,448 794
OXS A2 E N &dat XNE 15,242
o NFASEFE AN 483aXd 22l
5,819,000 5,819
o XA EFE AN -3 212AH]
9,423,000 9,423
11T M ZXALSE EX 32,950 31,400 1,550
OXNSABEHE AN a3 At
32,950,000& 32,950
NA=EXAY Il ZH(XNSEASBEHE2ANM &S 3 2,800 5,600 A 2,800
X)edhl
201 L2l 2,800 5,600 A2,800
01 At 22l 2,800 5,600 A 2,800
OSZAXNGAZEE HEEAM 22d+E
70,000& = 20 1,400
OSZZAXNGMNAEE AdREAM 22+
70,000& = 204 1,400
NS Ats =X 2 st 33,460 47,060 A 13,600
201 L4l 9,460 17,060 AT,600
01 At 2t 2l 1,840 12,800 A 10,960
Oty MHIA ¥ 2EI= He0lE
1,040,000& 1,040
O8L=XXA At 2teltl 800,000& 800
02 2324l 7,620 4,260 3,360
OAMaI=EXla2 =20 HH WX
6,000, 000& 6,000
OSEAd &AL S422
45,000% * 3F * 123 1,620
301 LA F 10,000 10,000 0
01 MEIBEE 263 10,000 10,000 0
OEAM(8HIl el MEE2 XA
50,000& = 100¥ = 23| 10,000
401 AIEHI L 201 14,000 20,000 A 6,000
01 A& HI 14,000 20,000 A 6,000
OMSIEXs 2 JIsEZ(LARIAY S)
14,000, 000& 14,000




SN FUMBTRDY
A rEY AFZXO A (MBSX/FHLHSKH)
Sl =X B4 £ CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
FoY3 24 37,256 36,043 1,213
307 gl2tol & 37,256 36,043 1,213
11T AS S RAEE = 37,256 36,043 1,213
OMASE ZEYI AY 37,256
oZFEWH 23| 10,000, 000& 10,000
oFEEYWI Mol oA 27,255,660 27,256
FolME shal X& 3,820,034 3,322,485 497,549
= 2,776,148
s 309,651
< 126,270
Al 607,965
ZECE NEBASKE (HEAY AAI2 2235 6,000 0 6,000
S 1,200
Al 4,800
307 glz2tol & 6,000 0 6,000
< 1,200
Al 4,800
10 AL SXAIEEE2EH EX 6,000 0 6,000
OXE A AADIZ A3 6,000,0002 6,000
< 1,200
Al 4,800
2sgJAesrs NSN3 192,814 237,520 A 44,706
= 173,531
Al 19,283
307 QI2+0| & 192,814 237,520 A44,706
2 173,531
Al 19,283
11T MISAASEX 192,814 237,520 A 44706
ougllss® 19,399, 000& 19,399
= 17,459
Al 1,940
oAU /xtael olst 6,469,000 6,469
= 5,822
Al 647
OBEUHLY/Xtae =1 43,325,000 43,325
= 38,992
Al 4,333
OHFEMEAHH 67,306,000 67,306
= 60,575
Al 6,731
OFYs LIS 15,438,000& 15,438
= 13,894
Al 1,544
OslY M =1 8,049,000& 8,049
2 7.244
Al 805
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}\ [u]

=Ry
el ZOIME o KW CEEEED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OslYd =2 6,517,000 6,517
= 5,865
Al 652
O3 YIS SEH AL 9,043,000& 9,043
= 8,139
Al 904
OslUISSEAH2 17,268,000 17,268
= 15,541
Al 1,727
PAR=2--\ 415,000 527,623 A 112,623
= 332,000
& 16,600
Al 66,400
301 dEtE M= 415,000 527,623 A 112,623
= 332,000
& 16,600
Al 66,400
01 Al B & X 262 415,000 527,623 A 112,623
Oo2a=X X3 415,000,000& 415,000
= 332,000
= 16,600
Al 66,400
=0 S B35 1,000 1,000 0
301 et M= 1,000 1,000 0
01 A& A 252 1,000 1,000 0
OkL=x02 5 B 20,000 = 5% = 10&€ 1,000
Ol 2SS HALS 32,000 16,000 16,000
301 et A= 32,000 16,000 16,000
09 SHAIAHI X & 2 32,000 16,000 16,000
O NYAIBEEoAM 243 K&
4,000,000& * 8= 32,000
AMNIEXNIN2(RNEXAILSHE) A 2,200 2,259 A B9
201 gBt2A | 2,200 2,259 A B9
02 E232%H| 2,200 2,259 A B9
OXNEXNIAANSEHE AlAE KX B4
1,100,000& = 23| 2,200
A2 S At 22l A 15,000 15,000 0]
= 7,500
Al 7,500
201 et 9| 9,000 9,000 0
= 4,500
Al 4,500
01 AFR 2t 2| bl 9,000 9,000 0
OAtdl &2l LEr2Ad| 6,060,000& 6,060




A FOUMET R D
A ASIOHEY AAXI HA(AMS S /HAHSKE)
Chelr FOIME A K@ (el @2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
= 3,030
Al 3,030
Oz2HTE2AY slo+Y
70,000 * 20 * 33| * 70% 2,940
= 1,470
Al 1,470
202 o4 | 1,500 1,500 0
= 750
Al 750
01 2L HI 1,500 1,500 0
OAMdl&elns S&20H| 500,000 = 3™ 1,500
= 750
Al 750
301 et M= 4,500 4,500 0
i 2,250
Al 2,250
01 Al B & X 262 4,500 4,500 0
OAtdl &2l Al X & 4,500,000& 4,500
= 2,250
Al 2,250
SHs U5Y S AU A XS 67,200 67,200 0
= 47,040
Al 20,160
201 et d| 33,600 33,600 0
= 23,520
Al 10,080
1 AF2 22l H] 29,480 29,480 0
Os Atdl2tel 29 3,685,0008 ~ 8= 29,480
= 20,636
Al 8,844
02 232%H| 4,120 4,120 0
Ot X200l E48lR2 515,0008 ~ 8= 4,120
= 2,884
Al 1,236
301 LBt A= 33,600 33,600 0
= 23,520
Al 10,080
01 Al E & A 452 33,600 33,600 0
Os Atdl2tel X & 4,200,000& * 8= 33,600
= 23,520
Al 10,080
ANEZ2Z ALY 2,228,860 1,638,665 590, 195
= 2,005,970
& 66,870
Al 156,020
307 gizto| A 2,228,860 1,638,665 590, 195
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tal ot AFLXICH A (MESX/FHAASIR)
] Ab

QMg sa X

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m
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2,005,970
66,870
156,020

A S XA E =

OX&ZZ2AY XA 2,228,860,000&

= N H
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2,005,970
66,870
166,020

1,638,

665

590, 195

= M

8,000

4,000
4,000

,600

A 600

Al

8,000

4,000
4,000

,600

A 600

8,000,000

H

Al

8,000
8,000

4,000
4,000

,600

A 600

5,000

,000

A 1,000

5,000
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5,000,000&

5,000
5,000
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A 1,000

XNAXEE ASIMHIA SXAIY (ME)(DFAIZIE 2
X&)

A

Al

104,290

73,000
31,290
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N5,710

307 21201 &

A
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73,000
31,290
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Ab5,710

[

&
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v
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D
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O
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ZHE MBlA X&

104,290, 000&
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104,290

104,290

73,000
31,290
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KNS ASIMHIA SEXFALS (M E) (XD AS A
AETALY)

Z M

316,580

221,600
18,990
75,990

345,

286

A 28,706

307 glz2tol ™

= N

316,580
221,600
18,990
75,990

340,

286

N 23,706
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o
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OXSAAMBIMEIAFEIALY XI& 316,580,000
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316,580

316,580

221,600
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340,
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SN FEUMEX
}\ [u]

=N
HE: AS oMY AP HA(ASISX/HAAHSKR)
] Ab

ool EolME o X (el @2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| Al 75,990
ANATEE MIMEA EXNAIS (ME)(FENSAHY 18,501 0 18,501
M)
s 12,951
< 1,110
Al 4,440
307 21201 A 18,501 0 18,501
ras 12,951
< 1,110
Al 4,440
05 RIZt2IEt = 18,501 0 18,501
OHENSHZAY K& 18,501,000& 18,501
s 12,951
< 1,110
Al 4,440
NAXEE MIMEA SXAS (XD AS HEBIAS XL 3,000 0 3,000
AE2ZHIXIH)
s 2,100
Al 900
201 Let2d] 3,000 0 3,000
as 2,100
Al 900
01 At 22l 3,000 0 3,000
OXG A MHIASETIAY 228l XI&
3,000,000& 3,000
s 2,100
Al 900
NEAXEdH JISsSZAS 35,000 0 35,000
< 17,500
Al 17,500
405 TtobFH S| 35,000 0 35,000
< 17,500
Al 17,500
01 AL EFFHSHI 35,000 0 35,000
OXNgxtadyd g +2 35,000,000 35,000
< 17,500
Al 17,500
NEitedy 29X 300,153 231,691 68,462
= 210,107
Al 90,046
307 21201 A 300,153 231,691 68,462
= 210,107
Al 90,046
10 M2 SXNANEHES2IHEX 300,153 231,691 68,462
OXdxady 29 300, 153,000& 300,153
= 210,107
Al 90,046
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SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
NEXEHE 2K (XM 69,436 61,820 7,616
307 2Iz2t0| A 69,436 61,820 7,616
10 M SXAEEHESIGHEX 69,436 61,820 7,616
(@)UFal:] 69,436,000 69,436
>=FEE2 M0 SAMHA 12,394,686 12,210,658 184,028
= 6,479,294
& 1,079,953
Al 4,835,439
HeI2HAAMDAIE XS 4,200 4,200 0
& 840
Al 3,360
307 2iz2to| A 4,200 4,200 0
& 840
Al 3,360
10 MM SAANEEHESIGHEX 4,200 4,200 0
Olelg M IDAIE XS 350,000 = 12&€ 4,200
o=} 840
Al 3,360
S XIS KNRALE 10,560 10,560 0
301 dEtE M =2 10,560 10,560 0
01 Al B & X 262 10,560 10,560 0
OegXols MEAHA K&
80,000& » 11 * 12& 10,560
SR E2ASIA 1,949 1,949 0
= 1,364
& 117
Al 468
308 XHXIGHH SO0l & 1,949 1,949 0
= 1,364
& 117
Al 468
11 2I2SHUSHEAXERAEASH] 1,949 1,949 0
Ogedojel 22 aE XA 1,949,000 1,949
= 1,364
= 117
Al 468
SO FUHESMHHA X 359,640 428,571 A 68,931
= 251,748
o 21,578
Al 86,314
308 XX SHHSOIH 359,640 428,571 68,931
= 251,748
o= 21,578
Al 86,314
112 2SUHUSHEAEAE A Y| 359,640 428,571 A 68,931




AN FUHEX S D
A rEY AFZXO A (MBSX/FHLHSKH)
H?: =FE=2 0 SXAMHA (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OggHMe FnaEdsMHHA X
359,640,000 359,640
= 251,748
< 21,578
Al 86,314
LY RS ESHHA 200,000 470,117 A270,117
= 140,000
< 12,000
Al 48,000
308 X EHSOIA 200,000 470,117 A270,117
= 140,000
< 12,000
Al 48,000
113/ 2SoHUHeSBHEAEALS I 200,000 470,117 A270,117
OZL S HUSEHSAHHA
200,000, 000& 200,000
= 140,000
= 12,000
Al 48,000
LEMEAMEA HHRH K& 280,800 250,642 30,158
= 196,560
< 16,848
Al 67,392
308 AHAIEHHSOIA 280,800 250,642 30,158
= 196,560
< 16,848
Al 67,392
113/ 2SoHUHSZHEAEALS I 280,800 250,642 30,158
Oggma A X2 A 280,800, 000& 280,800
= 196,560
< 16,848
Al 67,392
EXIJnF 4,525 4,525 0
= 3,620
< 181
Al 724
301 LetEA S 4,525 4,525 0
= 3,620
< 181
Al 724
01 MEIBEE 53 4,525 4,525 0
O&FOCl EXI(7] XNEAY 4,525,000 4,525
= 3,620
< 181
Al 724
ARISXIOI2 SAR HRHA 32,700 25,200 7,500
< 6,540
Al 26,160




SN FOIMEXED
HE: ALS OHE T AFZXICH SHA(AISIEX/FHUHS )
Sl £FEES ZHO SXAHIA (B9 ®R)
2 S 4
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
307 2Iz2to| & 32,700 25,200 7,500
== 6,540
Al 26,160
10 MM SXAANEEHESIGHEX 32,700 25,200 7,500
OAMSE2XIDI& SAX LA 32,700,000 32,700
= 6,540
Al 26,160
=X2MEBHAGSHM K& A 30,000 30,000 0
307 gizto| A 30,000 30,000 0
11T A EXAIEEX 30,000 30,000 0
OZZ2HZENAASIM K& A
30,000,000 30,000
A& NEHARHAEH 29 40,776 40,437 339
& 8,155
Al 32,621
307 2iz2to| A 40,776 40,437 339
o=t 8,155
Al 32,621
10 M3 SAANEEHESIGHEX 40,776 40,437 339
OANMUZHOI X XRMME 29 A
40,776,000 40,776
& 8,155
Al 32,621
NMEZEQHQI o o =0t < Hl K& 5,000 5,350 A 350
301 et A= 5,000 5,000 0
01 Al E & A 462 5,000 5,000 0
OUFFOY B U ==Ky X &
5,000,000& 5,000
EEMO EatHIE XA 4,000 4,000 0
= 2,800
== 240
Al 960
301 LBt A= 4,000 4,000 0
= 2,800
o= 240
Al 960
01 Al E & A 452 4,000 4,000 0
OWAE A0 SMHIEXE 1,000,000 * 4H 4,000
= 2,800
= 240
Al 960
TOHSE(IIxE) N2 331,476 349,787 A 18,311
= 232,033
= 29,833
Al 69,610
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= Hn W
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= Hn W

221,820
165,274
19,964
46,582

226,910

A5,
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221,820,000&

= M W

221,820
221,820

165,274
19,964
46,582

226,910
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= M

4,600
920
3,680

4,000

600

307 21201 &
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4,600

920
3,680

4,000

600

01 2=4d+=Hl
4,600,000&

H

Al

4,600
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11 At S XA
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HT

EN

H

Al

90,720

90,720

45,360
45,360

148,000

ABT,

280

2l

Al

105,000

52,500
52,500

105,

000




=J
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A rEY AFZXO A (MBSX/FHLHSKH)
H?: =FE=2 0 SXAMHA (&)
SN BA(SA) - MRAY - BES il HImEET
401 Al HIZ 201 Y| 60,000 0 60,000
< 30,000
Al 30,000
01 A& HI 60,000 0 60,000
OXHZMLEs Js: 60,000,000& 60,000
< 30,000
Al 30,000
402 RIZ2HXt20l ™ 45,000 0 45,000
< 22,500
Al 22,500
02 QIR E AL 2 | & TH 45,000 0 45,000
OZZAIZO Q! MEX ey
45,000,000& 45,000
< 22,500
Al 22,500
ZOHQUEH HH 242 273,298 258,105 15,193
307 glz2+ol & 273,298 258,105 15,193
05 RIZt2E = 61,488 0 61,488
OHe R=adA 29 N& 61,488
o B2 1,666,666% * 128 20,000
0 AR e124H] 3,457,333& * 12& 41,488
10 M2 SXNANEHES2IHEX 209,720 258,105 A 48,385
OZOMAZET A/SHEH & 85,410
o BRI 9,650,000 9,650
0 B ALA el 2| 3,156,666& * 2H » 12&8 75,760
OXNHEHAXNHRNALE 29 XA 124,310
o LEt2HH| 5,610,000 5,610
0 AR @124 H] 3,297,222@ * 3H * 123 118,700
11T MISRASEX 2,090 0 2,090
OXNEZHANEHANMH 22 N& 2,090
o At HI 174,166% * 128 2,090
TONOICHH AP L D X 24,140 24,140 0
307 glz2tol & 24,140 24,140 0
11T MIZSXASEEX 24,140 24,140 0
OZOQ =X Z0F AFSE DL =
4,140,000 4,140
OO & A& 20,000,000& 20,000
ool L2IAH N 24,000 19,200 4,800
< 4,800
Al 19,200
307 21201 A 24,000 19,200 4,800
< 4,800
Al 19,200
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Sl AFES Fojol BAAHIA CERED
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
11T M SRASE EX 24,000 19,200 4,800
OFoel 248l XA
5,0008 * 25% * 163 * 123 24,000
< 4,800
Al 19,200
ZOHASKAIE SAX SX==& 42,120 51,120 A 9,000
< 8,424
Al 33,696
307 glz2tol & 42,120 51,120 A 9,000
< 8,424
Al 33,696
10 AL SXAIEEE2EH EX 42,120 51,120 A 9,000
OZMASXAIE SAKL SX=H
42,120,0008! 42,120
< 8,424
Al 33,696
ZOoHe Alsl&E#0 29 163,938 144,366 19,572
307 gl2tol & 163,938 144,366 19,572
10 AL SXNAIEEE2EH EX 66,706 54,138 12,568
OXZOHQIEH ANE2H 66,706
o (Ab) &t i & 460,000& = 12& 5,520
o=0telEal &XAIXE  750,0008 = 128 9,000
OL/HHEMAUAAEES SEAIKXZ
1,307,166 * 128 15,686
oANZEHAASS =Sx AKX S
991,666& » 12& 11,900
o MMEOLI=RIS HEAKXER
666,666 * 12& 8,000
o NHLLEHMASXEE SEAXR
716,666& » 12& 8,600
o XIMZEOMCIES H=AXS
666,666 * 123 8,000
11T MIZSXASEEX 97,232 90,228 7,004
O=0t2lgsl 2stas XA AY 9,600
o ZRAE=S0eITHS 1,440,000 1,440
os0teIIIEAHE 4,730,000& 4,730
0 =0telel==0l 1,940,000 1,940
o==0EAUS 1,490,000& 1,490
O=s0telgal HEXE X3AAY 2,350
o EEZ0 2,350,000& 2,350
OzlgHeldgs 23S NEAY 1,980
oHEAZ 1,620,000& 1,620
oNSEMAH =203 360,000& 360
OzlgHoIAES e XA 3,650
oDIYSH wa 1,200,000 1,200
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=J

SN FUMBTRDY
A rEY AFZXO A (MBSX/FHLHSKH)
Sl AFES Fojol BAAHIA (S &2)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
[oR=g=12I DNBMES 1,565,000& 1,565
OStL M & 23S RJAY 1,500
oZd¥ FOQ #=FUEs HMAEE
1,500,000 1,500
OStL A& THEXE XI& ALY 16,700
oAtEe AHelsd 1,300,000 1,300
oBUXNZEZ Y 4,800,000& 4,800
oHLLEXHOMCI & 10,600, 000& 10,600
ZOHQ MEotd X 21,663 24,583 22,920
201 Let2d] 9,263 9,283 A 20
01 At 22l 9,263 9,283 A 20
OFMA=SKAE =& HdF A33 229 FHFA
= 70,0008 * 6% * 23] 840
OZMOISX AN 519 Bu2g
70,000& » 15 1,050
OHMU=XNHE SEHS w2
3,820& » 650A 2,483
OHMA=EXE AR 22lH 1,000, 000& 1,000
OBMZNEY 22X 22|
100,000& * 108 1,000
OFHILRelAIY A2 RS 3o FH+H
70,000& = 3H 210
OXOHel XtsSX =XEX M=
1,000& = 1,0000H 1,000
OFMHeIaSXNd == AHJHAAAS 39 &
G 70,0003 * 2% * 12& 1,680
202 Odl 2,500 3,000 A 500
01 = LHA YI 2,500 3,000 A 500
O3 LI(ZOoHel=XI) 2,500,000& 2,500
301 LEPEXZ 9,900 12,300 A 2,400
01 MEIBEZE+05l= 9,900 12,300 22,400
OssZMeI7 RegdsE XA
8,250 = 1009 » 12& 9,900
Zopel orst2d 84,000 84,000 0
< 42,000
Al 42,000
307 glz2tol & 84,000 84,000 0
< 42,000
Al 42,000
10 M ZXNANEHI2IHE=x 84,000 84,000 0
OFofel otst2d 84,000,000& 84,000
< 42,000
Al 42,000
ZHeAE S X2 2,490,303 2,603,946 A 113,643
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=z M H

83,025
66,420
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13,284
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14,074
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= M W
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66,420
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= M

1,000

200
800

,000

307 21201 &

H

Al

1,000

200
800

,000

ZHl

He0o 2857 3228 X
1,000, 000&

2
O lo
0x U
2 e
e 4

= M

1,000

1,000

200
800

,000

ool Rl K& (2R Ltel)
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A S XA E X

OFel SXL el At 206,082,000&
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103,041

195,
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20,608
82,433

= H

ZHOH QI X2l K& (Al 2EHMI L Xtel) 179,340 144,458 34,882
89,670
17,934
71,736

= M W

101 1Al 179,340 144,458 34,882
89,670
17,934
71,736

= N W

04 DIZtHZ22 s+ 179,340 144,458 34,882
OZOHQ AlIFMIZ Rtel rdd K&
179,340,000& 179,340

89,670
17,934
71,736

= 0 W

ZOHI L X2l KR (Lt 2 tel) 767,008 729,890 37,118
383,504
76,701
306,803

= N H

101 1A dl 767,008 729,890 37,118
383,504
76,701
306,803

= N H

04 JIZtHZ22 s+ 767,008 729,890 37,118
OFOHel LBt A Rtel eldd XA
767,008,000 767,008

383,504
76,701
306,803

= MW

oSN =4 253,000 0 253,000

401 AIEHIZ 2 I 253,000 0 253,000

01 A& HI 253,000 0 253,000

OZMBE=EXNHEH ZLAY SHEA

233,000,000& 233,000
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107,931 80,665 27,266

21,586
Al 86,345

H

307 glztol & 107,931 80,665 27,266

21,586
Al 86,345

H

10 ALl SXAIEEE2EH EX 107,931 80,665 27,266
OZog sgaga 2 N& 107,931,000 107,931

21,586

Al 86,345
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2N
X ZH -
L= B

el

=J

FOIME XA
AFBIQEEI G AFZEXICH B 4 (ARSI XI /3 S H BRI )
LEES Z0j SXMHIA

= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
ZosE Aga 28 N (MHHM=0L) 24,700 19,435 5,265
307 @lz2tol & 24,700 19,435 5,265
10 AMASANANEEE2SHES 24,700 19,435 5,265
ozl seded 29 XA 24,700
o 2124l 24,700,000& 24,700
O XFA2 MEAL JIsE2S AL 45,000 60,000 A 15,000
£ 22,500
Al 22,500
402 It Xt=01 45,000 0 45,000
= 22,500
Al 22,500
02 QX EAMAEE(0IATHE) 45,000 0 45,000
OSSN =222 UHE7Y
45,000,000 45,000
S 22,500
Al 22,500
o RIGAME THEANE 2E K& 961,659 663,222 298,437
307 212t0l & 961,659 663,222 298,437
05 It E = 135,360 139,578 N4,218
OZMpMeEoSXNAME 28 K& 135,360
o2l 666,666 * 128 8,000
o SALAL el 24Hl  3,537,777& » 3& x 12& 127,360
10AMASANANEEESEHES 826,299 523,644 302,655
SYENA=SXHE FAESAE 28 NS 345,705
o ZEt2gHl 833,333& * 12 10,000
0 SALAL @1 24Hl 3,996,488 » 7H x 12& 335,705
OFZAMEBUMA=SXHE =225 AE 28 X
2 205,293
o g2l 1,825,000& » 123 21,900
o SAAL el 24l 3,820,687& » 4 x 12& 183,393
Ox0SdEH 2 X2 275,301
o g2l 1,483,333& » 123 17,800
o SALAL @1 24Hl 3,576,402 » 6F * 12& 257,501
SN EAIE S22 A 231,548 0 231,548
= 115,774
= 115,774
402 QI2tXt=01 & 231,548 0 231,548
= 115,774
= 115,774
02 QN EMSEE(0IATHE) 231,548 0 231,548
OZOMHAXNATHEAIE JIsEL A (X E
A=) 184,404,000& 184,404
= 92,202




=J

SN FOIMEXED
HE: ALS OHE T AFZXICH SHA(AISIEX/FHUHS )
Sl aFEES IOl SR ALIA (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 92,202
OXMNQUXNATHEAIE JIsSSB2 ALY (XHH Y&
H ) 47,144 ,000& 47,144
= 23,572
& 23,572
ZOHCIotH &9 K& 30,000 30,000 0
307 2Iz2t0| & 30,000 30,000 0
05 QIZ2tREF 2 30,000 0 30,000
OHOMCIIIH 24 XN 30,000
oM&Hl S 30,000,000 30,000
ool 2sX¥20 XA 4,173,970 3,684,288 489,682
= 2,921,779
o= 250,438
Al 1,001,753
308 XX SHHSOIH 4,173,970 3,684,288 489,682
= 2,921,779
= 250,438
Al 1,001,753
11 BI2SUHUSHEAEAE AN Y| 4,173,970 3,684,288 489,682
QXL E=SXA(HSRHA) AHY
22,562,000& * 185YH 4,173,970
= 2,921,779
& 250,438
Al 1,001,753
MASAOHQ Nety] & H A"l X 2,164 2,590 N426
= 1,082
o= 216
Al 866
301 et M= 2,164 2,590 N426
= 1,082
= 216
Al 866
01 Al E& A 253 2,164 2,590 N426
ONMAEHEOHCR Aoyl & 2 AH K&
2,164,000& 2,164
= 1,082
o=t 216
Al 866
SSHNUXHMELE K& 158,533 156, 666 1,867
= 63,413
& 19,024
Al 76,096
307 212t0| & 158,533 156, 666 1,867
= 63,413
= 19,024
Al 76,096
10 AISIEXAIEEHE2IHIEX 158,533 156,666 1,867




SN FUMBTRDY
HE: ALS OHE T AFZXICH SHA(AISIEX/FHUHS )
Sl £FEES ZHO SXAHIA (B9 ®R)
. SfE|
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OZZ= XX EHMEMEH XIS 158,533,000 158,533
= 63,413
= 19,024
Al 76,096
SN MEME XK (ZSHXH) 20,000 10,000 10,000
= 4,000
Al 16,000
307 QI2t0| ™ 20,000 10,000 10,000
& 4,000
Al 16,000
10 MM SXANANEEHESIGHEX 20,000 10,000 10,000
OZS XS MEMEYH T2 29 XS
20,000,000 20,000
=} 4,000
Al 16,000
SIS MEME XK (REMZ=IH) 62,331 54,491 7,840
307 gizto| & 62,331 54,491 7,840
10 MM SAANEEHESIGHEX 62,331 54,491 7,840
OZZSHMAX S MEME X 62,331
o0 12 d| 62,331,000 62,331
SSEMC 282X & 100,000 406, 199 A 306, 199
= 20,000
Al 80,000
308 XHXIEH SOl A 100,000 406, 199 A 306, 199
== 20,000
Al 80,000
112 2SUHUSHEAEAE A Y| 100,000 406, 199 A 306, 199
Oss&Me EsE2x &
25,000,000 = 4H 100,000
= 20,000
Al 80,000
HOJANA&EXJHEH 2&9H X& 62,690 40,000 22,690
= 12,538
Al 50,152
307 2Iz2to| A 62,690 40,000 22,690
= 12,538
Al 50,152
10 M SXAEEHESIGHEX 62,690 40,000 22,690
OEOQ HOALXNKALMH 29 X
62,690,000 62,690
= 12,538
Al 50,152
COIAMXAEH 2HH XK (XM Z=OH) 62,048 59,139 2,909
307 212t0| & 62,048 59,139 2,909
10 M SXAEEHESIHEX 62,048 59,139 2,909




AN FUHEX S D
A rEY AFZXO A (MBSX/FHLHSKH)
Sl aFEES IOl SR ALIA (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZOQ HoYALXRME 29 K& 62,048
o 2l Hl 62,048,000 62,048
22X 2N 11,429 9,253 2,176
= 8,000
< 686
Al 2,743
308 AHAIEHHSOIA 11,429 9,253 2,176
= 8,000
< 686
Al 2,743
1132 SoHUHeSBHEAEALS HI 11,429 9,253 2,176
QX0 =X (IHar20d) 11,429,000 11,429
= 8,000
< 686
Al 2,743
Jlz=Mg U HASS MEXIA(MISX/ =M E) 15,527,545 13,688,033 1,839,512
= 13,833,107
< 1,070,100
Al 624,338
DA R S N 15,527,545 13,688,033 1,839,512
= 13,833,107
< 1,070,100
Al 624,338
ME= = 8,598 0 8,598
308 XX EHSOIA 8,598 0 8,598
08 WEII20HetE = 8,598 0 8,598
OQUEESH(IIE+=2 ) 8,598,000& 8,598
I=MEE8 S XNJAZH 6,140 12,869 A6,729
201 et 4,140 4,140 0
01 At 22l 4,140 4,140 0
OJzMEaRMoAAS Bld4+Y
70,000& = 11 = 23] 1,540
ORAIDAIY ™Mel SDH SOOI+
800,000&  29H 1,600
OMBZEHOIZME2ENE2Y)
1,000, 000& 1,000
202 oddl 2,000 2,500 A 500
01 = LH o4 1l 2,000 2,500 A 500
O=UW0 bl 2,000,000& 2,000
SXUAI el A 1,000 1,500 A 500
202 044l 1,000 1,500 A 500
01 SLHOYI 1,000 1,500 A 500
O=0 bl 1,000, 000& 1,000




AN FUHEX S D
HM: JI=ME L HASE MEIA(MIIEX/INZHEEE)
S JIZMEEFTE (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
HH =0 15,155,000 13,350,200 1,804,800
= 13,639,000
< 1,061,000
Al 455,000
301 LEHZ 15,155,000 13,350,200 1,804,800
= 13,639,000
< 1,061,000
Al 455,000
01 M2I2EZE+06l= 15,155,000 13,350,200 1,804,800
OdA=N 15,155,000, 000& 15,155,000
= 13,639,000
< 1,061,000
Al 455,000
AAZSXHATT S2ZA 4,500 5,500 A 1,000
201 Let24E] 2,500 2,500 0
01 At 22l 1,000 1,000 0
OAMBZLIHI (SE A Z2/2%) 1,000,000 1,000
02 =24l 1,500 1,500 0
OXt& s Xl 1,000, 000& 1,000
OHEZ AIEZ 20,8304 = 208 ~ 123 500
202 44l 2,000 3,000 A 1,000
01 S LHOIYI 2,000 3,000 A 1,000
O=UW A bl 2,000,000& 2,000
HdAs=0 A28 s NE 145,200 144,000 1,200
301 EMZ 145,200 144,000 1,200
01 Ml2ZE 6= 145,200 144,000 1,200
OMASZED ALPHE S X2
12,100,000& = 12& 145,200
FRg3 2l 77,107 67,964 9,143
= 77,107
201 Let24d] 77,107 67,964 9,143
= 77,107
01 At 22/l 77,107 67,964 9,143
OF=sL=2a 77,107,000& 77,107
= 77,107
(o RSP =0 130,000 106,000 24,000
= 117,000
S 9,100
Al 3,900
301 LEXZ 130,000 106,000 24,000
= 117,000
< 9,100
Al 3,900




AN FUHEX S D

g JI_JT:*O”; L HASES MEXJ(AASX/INZHEEE)
Sel JEMBE IS CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 MI2EZE+06l= 130,000 106,000 24,000
Ol EHSA 130,000, 000& 130,000
= 117,000
< 9,100
Al 3,900
HY2HZH (FUME XA D) (IIEH/IIE 196,091 184,010 12,081
2 49,974
Al 146,117
el 2l 157,811 139,435 18,376
= 49,974
Al 107,837
HECHM2so1g2 o2ddl X3 7,914 0 7,914
101 @124 dl 7,914 0 7,914
03 ZRH(RINAHN)ZERZ S 7,914 0 7,914
OsgZ2efs¥ 138,840 » 57 7,914
S A 22l AL el Al K& 99,948 98,568 1,380
= 49,974
Al 49,974
101 @124l 87,416 98,568 A 11,152
= 43,708
Al 43,708
03 2R (RIAHA)2Z2NHE S 87,416 98,568 A 11,152
OSe At 2telAr elAdl XI& 87,416
ool (45 8) 1,842,550& 1,843
= 921
Al 922
0 QA1 (58 8) 1,865,540& = 118 20,521
= 10,261
Al 10,260
oA (12&88) 2,007,220 * 2 = 4& 16,058
= 8,029
Al 8,029
o0 QlIAH| (138 8) 2,029,340& * 2% = 8& 32,470
= 16,235
Al 16,235
ox=2RE (45 E) 210,110& 211
= 105
Al 106
oxW=2R+H(558) 213,660& ~ 113 2,351
= 1,176
Al 1,175
ox=2RE(1258)
234,530& * 2H » 43 1,877
= 938
Al 939
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SN FUMEXRD
HM: HY2HAH| (M X)) (IIEH/DIE
chel: ol oyl (el:de)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
o ¥dZxH (4 2) 432,510 433
o¥Z2x¢(he ) 546,380 547
o HZ2xH(1252) 1,163,610& = 2H 2,328
o¥Z2x¢ (138 2) 1,174,670& * 29 2,350
oM@ (55 ) 1,081,270 = 5&€ 5,407
oM@y (125 2) 1,163,610& * 2H 2,328
oM@y (1358 2)
1,174,6708 * 2% = 4& 9,398
oA HLH 120,0008 = 3% * 12€ 4,320
o JI&Ex=E 40,0008 ~ 29 * 128 960
owWEEXH] 60,000& = 3% » 128 2,160
o HAHFAH| 140,000€ * 3¥H * 12&€ 5,040
o ¥ESIIH (45 2) 1,297,530 1,298
o HAEESIIH|(hE2) 1,311,320 1,312
o "WAESIH| (128 2) 1,396,330 = 2H 2,793
o WA SIIH|I (138 2) 1,409,600 = 2 2,820
oElAZHEHZ 6,454,650 6,455
Jl23 | 38,280 44 575 N6,295
Jl2 &4l 38,280 44 575 AN6,295
201 et d| 30,360 30,360 0
01 AP 22| d| 30,000 30,000 0
O] 10,000,000& 10,000
OEMS&Y AtR2t2/ 4] 20,000,000 20,000
02 B232%H| 360 360 0
OFMSY 2329H| 30,0008 = 12&€ 360
202 o4 | 3,000 8,000 A5,000
01 2L I 3,000 8,000 A5,000
MY 20 3,000,000& 3,000
203 € R F & 4,920 4,920 0
04 EASHEIRFAH| 4,920 4,920 0
oMY g42=&H| 410,000€ * 12€ 4,920
HEEsS(FoUMET W) (MR /FAXHSIH) 1,607,431 1,500,374 107,057
WHEAHAH XK= 1,607,431 1,500,374 107,057
28 II2EEIHEEZ2 22 1,607,431 1,500,374 107,057
701 JIEISIHSEES =2 1,607,431 1,500,374 107,057
01 JIEIS HE =2 1,607,431 1,500,374 107,057
O9z2WII2EEIH H&E2
1,607,431,000& 1,607,431




